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Answer briefly any Five parts from the followings:»  5x2=10 U.L’/(u L?/"'ﬁ
What is meant by International System of units. U rfu"' (i
In Physics, what is importance of scientiic notation in wrtigg L;'L; ,Jﬂ.ﬂ, ,(LJ. NV /J i

Define acceleration. Write its units.

Define speed a

Define veclor q

nd wrile its fa

uaniiies.

Prove that F = ma

Describe two situations in which force of friction is needed.

State the Newton's First law of motion.

Answer briefly any Six parts from the followings:-

Define Rigid bo

dy.

Differentiate between Torque & Couple.

On what factors the orbital speed of a satelite depefts?

Define gravitational field strength.

What is meant by power? Weite down t S unit.

How can you ﬁnd the éﬁﬁci'ehcff 6f a system?

Define mechanical energy.

Why fossil fuels are called non-renewable form of energy?

When a body is said to be in equiibrium?

Answer briefly any Five parts from the followings:- 5x2=10 szfutlf /‘-}’LI?F

Define stress and strain,

Define Hooke's Law and wrile its eguation.,

Define Fahrenheit scale and Kelvin scale

Define specific

Heat capacity

&

Give two uses of cooling effect by evaporation,

Define consequences of thermal Expansion and write it example.

Define thermal conductivity and write its equation.

Write two uses of conductors and Non-conductors,
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Note; Attempt any three questions,

Tx3=21

Derive third equation of motion with the help of graph 4

Express the following quanlities using prefixes

(1)50009 (i) 225 ¥ 108 il 52 w10 Kg

Slale second law of motion and derive equation F = ma

Find the perpendicular component of a force of 50 N

making an angle of 30" with x - axis

Slate the law of gravilation and proved its equalion.

A
A car weighing 12 KN has speed of 20 ms

energy.

Whal is meant by Young's Modulus, Calculale its

mathematical expression and write its SI - units.

An object has weight 18 N In air, Iis weight is found to be
11,4 N whenimmersed in water, Calculate its density

Whal is meant by convection current and wiite Its usage,
A brass rod is 1 m long al 0 °C. Find il jengt

Coefficient of linaar expansion of bra
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Note: Attempt any TWO parts.

Find its kinelic
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5x2=10

Find the acceleration of ball with inclind angle iron
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Distance Time
5 t
1 20 cm 3s
i 30 cm 5s
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Find Acceleration ;
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(i) Why poly starin cup is used instead of metal calon mele
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